
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

5049.1 × 0.001 = ________ 3498 × 0.001 = ________

1485.1 × 0.1 = ________ 2466.7 × 0.0001 = ________

3884.4 × 0.01 = ________ 6877.9 × 0.1 = ________

1057.8 × 0.1 = ________ 4161.3 × 0.001 = ________

1546.7 × 0.1 = ________ 3958.6 × 0.001 = ________

6433.9 × 0.001 = ________ 2666.8 × 0.0001 = ________

3639 × 0.0001 = ________ 7145.5 × 0.0001 = ________

8594.5 × 0.01 = ________ 1144.4 × 0.1 = ________

2240.8 × 0.001 = ________ 5516.1 × 0.1 = ________

9209.4 × 0.1 = ________ 4090.7 × 0.01 = ________
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

5049.1 × 0.001 = 5.0491 3498 × 0.001 = 3.498

1485.1 × 0.1 = 148.51 2466.7 × 0.0001 = 0.24667

3884.4 × 0.01 = 38.844 6877.9 × 0.1 = 687.79

1057.8 × 0.1 = 105.78 4161.3 × 0.001 = 4.1613

1546.7 × 0.1 = 154.67 3958.6 × 0.001 = 3.9586

6433.9 × 0.001 = 6.4339 2666.8 × 0.0001 = 0.26668

3639 × 0.0001 = 0.3639 7145.5 × 0.0001 = 0.71455

8594.5 × 0.01 = 85.945 1144.4 × 0.1 = 114.44

2240.8 × 0.001 = 2.2408 5516.1 × 0.1 = 551.61

9209.4 × 0.1 = 920.94 4090.7 × 0.01 = 40.907
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